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— 213 PTER DY mD Y
And what if by small jugs which are undefiled by a Zohv

OVERVIEW
The &n>>72 derives that yon is nan 2782 RPvn through a 1'p from 2°21vp 135 which
are 212 PV, Our MBOIN discusses why are 2°19P 7°29 not 2712 RNALA.

mdoIn explains that 2°3vVP 1°39 are 272 NIV -
- 98 DAY %91 DN DN YD 13’ PRY

Because the 21 cannot touch their insides, since their openings are narrow -
- VDN 5999 XA ¥ Y999 NAY N1 P00 WI9TH NPV NY M) VDN

And the 0°1vp 725 can also not become X»w through 117 997 as >''w1 explained,
whatever can be included in the rule of ‘touching’, can be included in the rule

of v -
- 5919 Y313 Y995 N3 PN

But whatever is not included in the rule of ¥%, etc. cannot be included in the rule of
vo°11. Therefore the o°1vp 125 which do not have vaa nR»w do not have v 7 NRMAW.

mooin replies to an anticipated difficulty:
- WA NYIY N 1IYAT DIV “NNVN KT *aTH IPY NYNY INIY 59 5Y 4N)

And even though the 0°1vp 71729 are fit to be touched in their insides through the
touching of the s'at hair, nevertheless it will not become N»w [as 3'"w9
explained], since we require that the item be fit to be touched by the flesh of the
21, and the flesh of the 21 cannot enter into the 21w 1°29, therefore the hair is also not X»vni the

0°1vp 1799. The reason the 217 YW is not 12107 RALA is -
- 2tn wan %)Y P9 TV NNMLY

For we derive the Xm0 of hair from the 1x»w of the flesh of the 23, therefore
wherever the flesh is not X»vn, the hair of the 27 is also not Xnvn.

" These 0°vp 1Pod are made of earthenware (071 °%2), which are Xnvn only 18n from the inside (in its inner
airspace), but not by coming in contact with 78w from the outside.
? o’ means moving; when a 21 moves an item (even without touching it or lifting it) it becomes Xnu.
? 120 71"7. See “Thinking it over’ # 1.
* Seemingly since the 0°1vp 799 can become Xnu through the 217 ww, it should be considered ¥x% *1X1 (and therefore
also vwo*17? »1X7), and in any event it is (seemingly) ara Xnvn through Www.
> The "27 Mt amends this to read; D1Ww» DIVIPA WIHTI RAvA. See 771 77 "W 2,70 NAW.
®In" 75 ¥7X¥n nwIo X190 we derive from the 2109 (in 7,0 [¥71¥A] XIp°1) which states 13117732 ©23° 217 W22 YA
2771 7Y Xnw, that the word Xnv1 includes the hair and the nails of the 21 that they too are Xnuvn.
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NN asks:
= 119N YN 9NN IND TN 49PN O9N PR 1929IN (3,0 97 NTIT NP P9927 99NN ON)

And if you will say; for in the first pap of 7171 noon, we state that an
earthenware utensil which is ‘tightly covered’ so that it is ‘protected’ in the

N 9MIR from becoming xms,7 nevertheless -
- "n19av *nyb nyma s PX

It is not ‘protected’ from become Xnv during the previous ¥''9y» by a 1772,

mooIn asks from an additional source:
= 1 INYN DVION NAY YINDI 191D 7299 13) (3,x0 971 o)) 101’i7t3ﬂ:1

And also in the end of P17 poo the X7nx asks, ‘and let us be concerned that

perhaps his wife will be we» the utensil when she is a 7772’ -
= Y31 Y995 Na PNT 2) DY GN VDN NNVNT YNIYN NNAYN

It is evident from these two M3 that a °22 can become vo372 K%w, even though

it cannot become X»nv through ¥a», since it is 2’n2 7n¥ Apwm. This contradicts what >"wA
taught that if it is not ¥an 9937 X2 it is not vO*7 Y237 X2

N1v0IN answers:
= NNONY MYV 2919 1Y 19%2WN YN HH9Y Na HIND T9I8T DN 13929 9IINY

And the n''m replied; that a *>> which is 91 with a n2 7922 is considered that

it is yanm ®9o% N2, since it is intended to be opened; however o1vp 135 will never be
wide enough to be touched by a 21 from the inside —

nmooIN anticipates a difficulty with this concept that something which is nnai% 71 is considered
yan 9735 K2
- (3,937 97 P9M) 2VIINY NYNA AN N9 NY9YP 5237 23 Y N
And even though that the X772 states, in 2w "Wwa P79, regarding the
thighbone of a carcass -
- NYMA NNV PN DAPNY 199 AUNY 2) YY GNY 397 NYUYN 10NN NP 90INNT

7 The 770 writes (in 10,0 [Npri] 927232) regarding the 7Xm1 of M7 2K that X7 XaY PHY N0 TRX PR WK MnD *93 7o
indicating that if it is covered with a 9°n5 71X it does not become N7 2782 K1Y,
% A 771 is (132770) Xnun anything she touched or sat, etc. up to twenty-four hours (a n¥% nyn) prior to her seeing 07
771 (out of concern that the N7l may have begun earlier).
? If a 771 was ©On this 071 22 which was covered with a >n5 7»% on it (within a ¥">y» prior to seeing 07) the *23
becomes &nv. This *73 is tightly covered, so it cannot come to ¥ n¥m W, and nevertheless it is VD12 RAWVA.
' The xn>2 there states that we may deposit 770 72170 by an yIX7 @y (who is suspect on N17w), provided that it is
in a °93 which is %219 713 AP, The X3 asks but it still can become 1w if his 771 MWK is vOn this 3.
"' The mwn there on X,70p states that a closed 719°21 n°9p is not RWn ¥ana XHvA since we can only touch the bone
and not the (flesh of the) carcass. However if the bone was pierced and it is possible to touch the marrow (with one’s
hair) then the n°21p is like a 7%°21 and is Xwn21 Yana RavA.
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That if it the n°7p was not pierced (it is still whole), it is considered as if it is
lacking the action (of piercing),"” therefore even if he intended to pierce it, it is
not X»w» by carrying it" —

mooIn responds:
- “nnonb 11y 1IN0 YN0 Ny YaR INAUNN 31 HY RIN 125915 NN PN NIND ONHT

There by the n°>p, generally a n°71p is not intended to be pierced; only in this
case it is intended to be pierced through his thought, however a % np 7% is
generally intended to be opened —

NN asks:
- lsjﬂ’ﬁﬂ NN DY VY MONY DIDYY 199NN NNVN 1Y 0”nvp 1’995 9 9MINHD ON)

And if you will say we can refute the 1"p thus; you know why a%up 19op are Xnvn
nni 97IR3, since they can become X»v from their airspace, for he can suspend
the hair of a corpse in their opening and it will become Xnu, however there is no such
TR of airspace by a yon. moon will now prove that it is possible to insert that hair of a n» in
the o°10p PO -

- NIV NIVNT D0 19991 9INI Y 1353957 133 71D
For shortly the X773 also rules that a y97 is y7w2 Xnvn through a ' from o2

a%up (which are not 212 X»vn and nevertheless) are yawa Nnawn -

- 1993 935’0 9157 23 HWTYO1 )5 ON)
Therefore even a v the size of a lentil can enter the opening of o°1vp %39, and
certainly a hair can enter it. The question remains that there is a X117 by 0°1vp 135 (that it can be
177187 Xnwn), which does not apply to a 97, so how can we derive yo» from 2°10p 1357!

N1B0IN answers:
- 0999 Oy 93 Y W

"2 The X there actually posed this as a query; whether 712°p1 7012 is "7 wyn O3 or not, and concludes WA
T AWYA 0NN XY 12°P1. Either X073 ndon there (in the conclusion) was 17 AWV 70N 72°P1 10, or NODIN was
questioning the option (in the query) that >»7 AwWyn 0NN 72°P1 W0INN.
" The question is, Mo just stated that by a 9°no Tn¥ since it is intended to be opened (eventually), it is considered
v 9257 X2 (and therefore it is vo°172 KnVA), so here too by the N°7p since it is ¥an 9237 X2 (for he intends to pierce it)
it should be Xwn21 ¥an1 Xnwn.
' Regarding something which is generally presumed to be opened eventually (like a N2 7n%) we say that it is
considered ya 993% X2 and therefore 21 vo’7 257 R3; however something which generally is not intended to be
opened (or pierced, like a n°7p), but rather in this specific case one intends to pierce it, this is insufficient to
consider it ¥an 9939 X2 (since as of yet it was not pierced).
1% See X"1 MianT who deletes the words, 17°92 191 212°w. See "1 who explains the difficulty with our Xo3.
'® maoin does not mean only y¥ *23; it can be other 293 (like Non» 23) as well.
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And one can say; wooden utensils will prove that even though they are not 778» Rnvn,
nevertheless they are nni 2R Ravn, so too D°3vp 130 even though they are not 17MKRn Knwvn,

nevertheless they can be nin 2mRa xawvn. If you will respond; you know -
- B)n991 05305 199 919 N90a TNINRN ANDIL AN PYYI 19V DY INYY NN

Why other 2%%> (such as yv 75 or nann °22) are nian MR Xnwn because they can
become an 82T 28; can you say that by a yo» which can never become an X
XML (and therefore cannot be 2mMR2 Rnvn)? We will respond that asawp 1925 will

prove that even though they cannot become an axn07 ax," nevertheless they become Xnv
9mX2. Similarly yon even though it cannot become an 8?07 2R, it can become 271X Xnv.

nooIn asks:
- 2oq1n NPLN N9 22903 S8 DI9ITI 19991 IIND ONY

And if you will say; we could have derived that N2 yon is 782 &nwn from 1995

2"9173, for they are not 597% Kuw:» -
- DN NPV RNDONY DI NNOM PR DN 2997 (0w 3,70 navy “NIPY ¥ P92 )9 NPT

As X271 derives it in ¥''% P22 that 917 "9 is not 77 X»w» and nevertheless it is
NM RN™W RAWM, so vo» which is 0777 Xnwn is certainly M Xab Rnon —

mooIn replies:

127 INMIV 2991 PNNOY DIVD 199 VPINY 1YY XN RNPYI
And perhaps the X7n) preferred to mention 2°1up 1929, for they are 777w from
any of the 31 NXM even v and v 1. Therefore the 1"p is more powerful.

SUMMARY
o°19p 7135 do not have 21 yan nRMW even through his hair since there can be no v¥an
Iw2 there is no XMWY by hair either, and therefore by extension there is no nNXMAW

17 See later on this NP1 "7 "0 7Y that in ¥"9 275 we derive that anything which has no mpna 7770 (including a
yon [and 0711 °92]) cannot become an RNV 2N,
8 If we will then argue TR PRHVA 1OV D210 19397 1, we will respond 1931 Y °25 and 177 711, where X1 737 9K R?
NN MR DORNLAT IRDIY D’bJPDW 0°10P 1°39 X 2N °IX AR N 5mxa TRALMY ARNIY D’bJPDW QAW MWE TN DY .
1 See footnote # 17.
0 See “Thinking it over’ # 2.
2! 997 means if a a1 sits or lies on it. There is no 017 NXMY by a 077 2.
22 X2 derives it from the 105 (in 1,0 [npA] 727732) which states regarding nai 57X that 9209 7% 1R MWK M09 995 51
X177 Xnw 1HY, indicating that if it is covered with a 2°no 0¥, it is nn 2R3 v under all circumstances, even if he
designated this 0711 "3 to be a chair for 771 \nwK. Now if 0711 °25 is 07171 Xvn, how can the 7°no 71X protect it from
nn NRML since we have a rule that XAV %102 YT 1K I8MY 22pn7 1272 Therefore we must conclude that a 091 ¥93
1S not 077N RAvA.
» However 02173 1°29 are 212 Xnun through v or vo.
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vo°7. Something which is generally opened eventually is considered ¥ 922% X2
(but not something which an individual intends to open). We actually derive yon
from a mMwn 7% of °vp 15 (which are 17787 Rnwvn) and 2°95 RW (which can
become an XAV 2R). 173 P20 are not DTN RALA.

THINKING IT OVER

1. nooIn writes (in the name of *"wA) that 0°1vp 1°29 are not 217 VO°2 XMLVA (since 92
o Y937 K2 XY van Y939 X2 &9w).>* Seemingly even if it is vO*1a Xnvn, we can still
make the 1"p saying nnm MIR2 PRALA 2T YaR2 PRAVA PR DI0P 7D 1Y, SO ¥ON
which is 217 ¥a nXMIVA ’nvA is certainly N HmNa Xnon?!?

2. Is there vo’1 nkmw by a yon?*°

2 See footnote # 3.
2 See TM9N7 *won XN # 78.
26 See TIMoNT WM XN # 86.
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